==
N = 0] &F AF S & AN A
2020 = 20l A L BESIH AR Dt
EAXN: AED
Hu: pEnE T4 Y 84
el ZNExY (el &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Al 17,707,431 15,518, 152 2,189,279
= 4,726,091
g 1,391,196
& 2,746,843
= 8,843,301
AMEITIR X4 2 24 12,749,189 11,298,127 1,451,062
= 3,928,129
g 1,391,196
& 2,096,765
= 5,333,099
JHE XA 1,027,037 1,931,968 A 904,931
2 478,448
o 133,433
= 415,156
TEAIE XA 102,777 380, 151 N277,374
201 et 9| 13,386 14,370 N 984
01 AP 2t 2] d| 9,566 9,380 186
OAMSUHA S A 8,000& x500H 4,000
Ooggol stotsStHe 22+
2,500,000 x14! 2,500
OAlzadizize S E52Y 1,000, 000& 14! 1,000
OUZHAD =X SHH(BH)
71732 x4H 62 x 128 2,066
02 2324 3,820 4,990 A1,170
ONSEXTHHR FAXE A 22| 3,820
— NEXA2 160, 000& 1CH 160
- AsSi B8 600,000 =1CH 600
—EAHNEREE = 60,000& ~1CH 60
—S8H ¥ S22yl 3,000,000 =1CH 3,000
202 044l 2,850 6,240 A 3,390
01 2L I 2,850 6,240 A 3,390
OMEZHAD ZX(5Y)
15,830 *3H x5 x 12& 2,850
206 M = dl 10,000 10,000 0
01 X2 4| 10,000 10,000 0
OO0 UR USFHFD| At BS el
5,000 *2,000= 10,000
401 Al HI L 2 0HHI 76,541 316,541 A 240,000
01 Al& H| 75,989 314,261 N 238,272
OYA42 T4 (10ha)
76,540,0009 x99.28/100 75,989
03 AlIEE20HH| 552 2,280 AN1,728
QY42 ZA(10ha)
76,540,000 0.7199/100 552




U

2N
X ZH -
L= B

el

M

X

0% 1
0x
He
10
0x

m

40

]

10

=

oY iz rx
o
oo K

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2

T (M

0x

) 436,037 1,412,863 N 976,826
224,987
63,315
147,735

HH A

401 AIEHIZ 2 I 436,037 1,355,923 A919,886
224,987

63,315
147,735

HH A

01 A& HI 402,374 1,351,042 A 948,668

OZME =4 (105ha)
436,037,000& *92.2797/100 402,374

207,625
58,425
136,324
02 Zeltl 30,523 0 30,523

OZ M =4 (105ha) 436,037,000& x7/100 30,523

15,750
4,432
10,341

03 Al& £ CHHI 3,140 4,881 A1, 741
OZ Mg x4 (105ha) 436,037,000 *0.72/100 3,140

1,612
458
1,070

Mo A

U R I

Mo R

SHHE SECS (XM (SHAAIIEIEH) 1,000 1,000 0
1,000

H

202 Oddl 1,000 1,000 0
1,000

H

01 =LHOI I 1,000 1,000 0
OS2l 20,0003 x1H +502 1,000
1,000

H

/\I,_’Q‘_E,I A}E_deOo:ijﬂgj‘ Xt

o Yoo =

0x

10,583 10,350 233
4,091
1,637
4,855

Mo A

202 o4 4l 2,400 2,400 0

01 SLHOYI 2,400 2,400 0
EMA oot FEFA
2

0,000& 18103 12& 2,400

401 AIEHIZ 2 I 8,183 7,950 233
4,091
1,637
2,455

Mo A

01 A& HI 8,183 7,950 233

Oarz B L& N 24 (400ha)
8,183,000% 14 8,183




SRR}
M MNE X4 2 R4
Sl FMATY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 4,091
< 1,637
= 2,455
TH(REEXN, SEXH) 60,300 0 60,300
= 40,200
< 6,030
s 14,070
402 QI2HAHE01 M 60,300 0 60,300
= 40,200
< 6,030
s 14,070
02 QI EAILS EZ (OIS ) 60,300 0 60,300
OKREEXN, ESTF =g (10ha)
67,000, 0002 *90/100 60,300
= 40,200
< 6,030
fia 14,070
T (NHESE ) 416,340 0 416,340
= 208,170
< 62,451
s 145,719
401 Al HIZ 201 I 416,340 0 416,340
= 208,170
< 62,451
s 145,719
01 A& HI 411,344 0 411,344
OXNYEstxd 20,817,000& *20ha*98.8/100 411,344
= 205,672
< 61,702
s 143,970
02 2teldl 4,996 0 4,996
OXNYEsxg  20,817,0002 *20ha*1.1999/100 4,996
= 2,498
S 749
s 1,749
ZUHEXE 849,897 1,528,764 AB78,867
= 325,272
< 157,388
s 367,237
TE(2URSYXY) 265,100 72,000 193,100
= 132,550
< 39,765
s 92,785
401 Al HI K 201 265,100 72,000 193, 100
= 132,550
< 39,765
[ia 92,785
01 A& HI 257,147 71,352 185,795




2N
X ZH -
L= B

el

ez rx
o opu
02
B {0
0x
Ho
Ho
0x

=
=2
=]

-

ir
x

CHE - EI(SA) - NRAY - B S 0] &k o4

=

M
2
==
£l
Ol
0y

O2 U3 =& (22ha)
12,050, 000& *22ha*97/100 257,147

128,574
38,572
90,001
] 7,953 648 7,305
A X2 (22ha)
12,050, 000& *22ha*3/100 7,953

3,976
1,193
2,784

MR

03 Al 2 TH
O2u=

Mo

P
il
>
o
;—4:
%
0g
>
FA
o

19,833 123,102 A 103,269
1,758
5,423
12,652

HH W

401 AIEHIZ 2 I 19,833 123,102 A 103,269
1,758
5,423
12,652

MW

01 A& HI 19,833 123,102 A 103,269
O&rZ Mol 2 Xl =8 (3ha) 6,611,000 *3ha 19,833
1,758

5,423
12,652

HoH W

TH(OIMEHR 2UREEY) 564,964 731,334 N 166,370
190,964
112,200
261,800

HoH W

401 AIEBIZ S CHYI 564,964 731,334 A 166,370
190,964
112,200
261,800

HH W

01 A€ HI 550, 105 704,926 A 154,821
OO0IMIHXI 22 X2 (34ha)
564,964,000 *97.36991/100 550, 105

185,935
109,251
254,919
02 2teldl 11,300 21,801 A 10,501
OO0IMHX 22 X8 (34ha)
564,964 ,000& x2/100 11,300

3,826
2,242
5,232
03 A2 2 THHI 3,559 4,607 A 1,048

OO0IMHXI 22 X2 (34ha)
564,964,000& «0.6299/100 3,559

1,203

HH A

MW

H




2N s
My NN T4 2 54
ool 2URxY SEREE))
- _ _ RE]
CEE B (BH) - HBAY - BAS %Eﬁ HR=2
= 707
= 1,649
APE XM L 22 404,405 384,046 20,359
3T AHAH 404,405 384,046 20,359
101 e1214| 199,965 177,826 22,139
04 J|12ZtHIZ22NEES 199,965 177,826 22,139
OZ2F -3tz 22/ 76,737
- Jl23 71,0503 x3Hx21L x11& 49,238
— WEH| 2,000 x3H*x21L x 118 1,386
— =4 4 000 3«21+ 11 2,772
—F=5G 71,050& *3H *46F 9,805
PN 77,050 3«11 2,543
— 428 = 67,544 ,000& x12.5% 8,443
—&H=s U otA g 250,000 x3H 750
— HE 50| 300,000 *3H x23| 1,800
OZ23 Ma 2 ATH 123,228
- J22 71,0503 x6H x21 x9& 80,571
— WEt| 2,000 x6H 21U x9& 2,268
— =4 4,000& 6 21 »0& 4,536
—FE5G 71,050& x6H *38F 16,200
— AX G 77,050 6 9L 4,161
-4 = 109,536,000 *12.5% 13,692
— @A S| 300,000& x6H 13| 1,800
201 2Et2Ay| 17,440 11,720 5,720
01 AP 22| d| 5,000 0 5,000
OZZMAE 22|28 ¢ 100,000& x50= 5,000
02 324 H| 12,440 11,720 720
OXPoIR2A =& & MIR2
120,000& »12& 1,440
O E & 24 e A2
500,000 *»2CHx11& 11,000
206 M = dl 107,000 139,500 A 32,500
01 W2l 107,000 139,500 A32,500
OZX, 22108 7Y 1302%105+40,0002 52,000
OZIYME HEDY 7,000 4,000 28,000
OBBMUE AN S 7
10,000 *5& *x50 L 2,500
OClelLt2t 1158 ol 15,000 =1, 5004 22,500
OEM=EM 23 T 2
1,000& x2& *1,000= 2,000
401 AlEHIZL 2 0HY| 80,000 55,000 25,000
01 Al&H| 80,000 55,000 25,000




SH: 4D
HE: MEX
X

2
ool 2R

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

Os4d=N 28 &1 45,000,000 * 14 45,000
Oo=ae ¥ £ &£X 35,000,000& » 14| 35,000

i
[m]
Mo
H>
M
+
M

5,094,953 3,573,914 1,521,039
2,846,277

673,883
1,574,793

M A

HASIIRIN(EIRIIAY) 1,080,504 531,976 548,528
540,252
162,076
378,176

HH A

401 AIEHIZ 2 THYI 1,080,504 531,976 548,528
540,252
162,076
378,176

HH A

01 Al&H| 1,024,462 499,657 524,805
O2U 2213171 (180ha)
275,712,000 x94.9998/ 100 261,926

130,963
39,289
91,674

MW

O& Lt IR 1 (490ha)

750,552,000& %94 .3699/100 708,296
354,148
106,245
247,903
O3 = It I1(20ha) 2,712,000& *20ha 54,240
27,120
8,136
18,984
02 Zeldl 51,314 27,130 24,184

O2U 21371 (180ha)

275,712,000 *5.0001/100 13,786
6,893
2,068
4,825
OOl 2ILF2IHR 1 (490ha)  750,552,0002 %5/100 37,528
18,764
5,629
13,135

03 Al 2 THHI 4,728 5,189 A 461

O & Lt IR 1 (490ha)
750,552,000& *0.6299/100 4,728

2,364
709
1,655

HH A

Mo

U AT

MW

MR

HRIN(ZEXIHRIN) 2,512,049 1,531,738 980,311
1,256,025
376,807
879,217

J
H

MR




2N
X ZH -
L= B

el

Wz
Qo

i

Mo X &

=
0x

=
=

bl

[uind o

=

2 =AM
J

N

>

A -

A S (SA) - HRA - BYS

Off &t 24

=

i
2

401

AEHI X2 HI

HH A

512,

,256,
376,
879,

049
025
807
217

1,531,738

980,311

01

02

03

Al & Hl

OZXE Xt RIIAE (1,640ha)
2,

(1
512,049,000& *92.53497/100

2l dl

OZXE X It RIIALSE (1,640ha)
2,512,049,000& %7.2/100

A& 208

OZXE X I RIIALS (1,640ha)
2,512,049,000& *0.265/100

MW 4N

Mo H

, 324,

, 324,

, 162,
348,
813,

180,

180,

524

524

263
678
583

868

868

90,434

27,
63,

6,

6,
3,

2,

130
304

657

657
328
999
330

1,390,818

135,406

5,514

933,706

45,462

1,143

M H

,502,400

,050,
135,

000
000

317,400

1,510,200

AT,800

202

01|

2,400

10,200

AT7,800

01

=U 04 H

OMXIEE Q50 A2 =
20,

Xl
-

000

o

*1Z+108 128

2,400

2,

400

10,200

AT,800

402

gi2tit=01 &

[y}

HH A

,500,

,050,
135,
,000

315

000

000
000

1,500,000

03

e
S
H0

O
rx
H
> o
o
oY 19
02

=
==

|
X (141)  1,500,000,0003 » 14!

MW

,500
,500
,050

135
315

,000
,000

,000
,000
,000

1,500,000

Lo

Ao

,623
,291

545

,575
,196
,307
787,

072

1,077,473

1,546,102

HMEAY)(XNAMAH2)(EEHE)

UK

,844,

291,
5583,

565

196
369

833,910

1,010,655

401

AEBIZL 20U

,844,

565

833,910

1,010,655




2N
X ZH -
L= B

el

-

e
N oV g

pm S|

Mx i
P
0x

o
0x

bl
1o

o
=

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

EUNEY

1,291,196
553,369

01 A& dl

O LT A AS (8.3km)
1,844,565,000& x97.39/100

O & ALY (8.3km)
1,844,565,000& 1.88995/100

P QL& AL A AFRE (8. 3km)
1,844,565,000& *0.72/100

EUNEY)

EUREY

A

1,796,422

1,796,422

1,257,496
538,926

34,862

34,862

24,403
10,459

13,281

13,281

9,297
3,984

812,924

15,197

5,789

983,498

19,665

7,492

CSANS(HEANF)(NMMA2)(LZHE)(H

o

)

M H

289,940

202,958
86,982

289,940

401 AIEHIZ 2 I

UL

289,940

202,958
86,982

289,940

01 A€ dl

OXA L AH ALY (2.0km) (& &)
270,000,000 *97.38/100

9,970,000 22

OXT AT AL ALS (2.0km) (& )
270,000, 000&*1.9/100

OXH LT AHAS(2.0km) (& &)
270,000, 000& =0.72/100

Mo

EURE

UNE

EUNLY

282,866

262,926

184,049
78,877

19,940

13,958
5,982

5,130

5,130

3,591
1,539

1,944

1,944

1,360
584

282,866

5,130

1,944

CAE(MEHE)(NMHFE) (Y22 ) (™

a
I

b

EURE

489,070

342,349
146,721

489,070

UL

58,810

41,167
17,643

58,810




2N
X ZH -
L= B

el

Off &t 24

=

i
2

68,7203 x5 130

sF5+E 68,720 x5H «255

36,416,000& *12.5%

200,000& x5H

bl

|
JA
19
i

o
e
ra
\ﬂ
o

T

M

58,810
58,810

44,668
31,268
13,400
8,590
6,013
2,577
4,552
3,186
1,366
1,000
700
300

201 2Bt Yl

M H

3,000

2,100
900

3,000

01 At
60,000& 508

Mo

3,000

3,000

2,100
900

3,000

401 AIEHIZ 2 I

EUNE

427,260

299,082
128,178

427,260

01 A& HI

OLERAEZINE AL (4.0km) (& )
272,000,000& «97.3897/100

O 2= At (20.0km) (& &)
7,763,000& *20.0km

02 Zeltl

OLERENE AL (4.0km) (& &)
272,000,000& *1.8895/100

03 Al 2 THHI

OLERZNE ALY (4.0km) (& &)
272,000,000& =0.7205/100

M

M

UL

UL

420,160

264,900

185,430
79,470

165,260

108,682
46,578

5,140

5,140

3,598
1,542

1,960

1,960

1,372
588

420,160

5,140

1,960

Mo A

776,723
100,000
260,000
416,723

857,327

A 80,604




=y

MY Z4 YL |4

S4&E2 FH CHo &2l
- - . =]

CEH O (BH) - MEAY - B2 %Ei HDS2
28 2el (XHA) 56,723 87,327 A 30,604
101 @121l 26,723 26,027 696
04 J|I2ZtH2E2XNEE S 26,723 26,027 696

OS2z ¢ ME=SAE =3 ME=&Y(4Y) 26,723
—-JI=23 71,0503 #4921 »3& 17,905
- 54 71,050& x4 x 123 3,411
— X E 77,0503 x4H x3 925
— Sl 2,000 x4H x21 L x3& 504
— Al 4,000& *4H »21 «3& 1,008
— 428 s 23,753,000& *12.5% 2,970
401 A& HI L 20l 30,000 60,000 ~30,000
01 A& HI 30,000 60,000 A 30,000
SHZ AgE ZH S |RNL
30,000, 0003 *14] 30,000
=AXTH2A(MH2)(SAZHH) (&) 520,000 770,000 A 250,000
< 260,000
= 260,000
201 LBEt2 A Y| 9,536 0 9,536
T 4,768
= 4,768
01 At 22l Yl 8,036 0 8,036
OSH&Z HUIMY XA (HE
803,600& x1CH=10& 8,036
< 4,018
= 4,018
02 =294l 1,500 0 1,500
OSHNZ HUIAMY e SXHI(HE)
150, 000& x1CH =103 1,500
& 750
= 750
401 Al Bl 20 HI 510,464 770,000 N 259,536
[ 255,232
= 255,232
01 A& HI 502,484 752,367 N 249,883
OOHOl & 22 8 E ZAAY(HE)
320,000,000 *99.28/100 317,696
T 158,848
= 158,848
OSHNZ HUIANY (HEH)
190,464,000 *97.0194/100 184,788
T 92,394
= 92,394
02 Zeltl 4,304 12,782 N8,478
OSAt2 HHIAIY (M &)
190,464,000 *2.2596/ 100 4,304




SRR}
Hu: pEnE T4 Y 84
& S&=2 F| (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 2,152
s 2,152
03 Al 2 THHI 3,676 4,851 ANT1,175
OOtol &k &2 8HE ZEAG(HE)
320,000,000& 0.72/100 2,304
< 1,152
e 1,152
OS&Z FHUlIAY (HE)
190,464,000 0.72/100 1,372
< 686
s 686
NHESYTH(MYSHBE) 200,000 0 200,000
s 100,000
s 100,000
401 A& HI L 2Ol 200,000 0 200,000
s 100,000
s 100,000
01 A& HI 198,560 0 198,560
O 22 FHl 200,000,000 x99.28/100 198,560
s 99,280
s 99,280
03 Al S THHI 1,440 0 1,440
od&d=Z Fl 200,000,000& *0.72/100 1,440
s 720
s 720
MEAMEIASE 389,576 386,819 2,757
= 77,548
< 28,209
s 283,819
MNENHIAZR0 29 X (SASK22S) 20,832 20,296 536
2 10,416
< 3,125
s 7,291
101 14 Hl 20,332 19,796 536
= 10,166
< 3,050
[ia 7,116
04 JIZHHZ2XRHEE S 20,332 19,796 536
OEAMN=sXZel (1Y) 20,332
—Jlzs 68,7203 x1& 212102 14,432
= 7,216
< 2,165
[ia 5,051
-5 68,7203 «1H x39.98F 2,748
= 1,374
< 412
[ia 962




A
Hm: pENE T Y 84
el ARIMHIAZA CER-ED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
— X< 68,7203 1% 9,99 687
= 344
< 103
s 240
—4HEE = 17,867,000 x12.495% 2,233
= 1,116
< 335
s 782
— W=l 232,000 x 18 13 232
= 116
< 35
[ia 81
201 et 500 500 0
= 250
= 75
[ 175
01 At 2teltl 500 500 0
OEA=A 223 257 100,000& *5& 500
= 250
< 75
e 175
MENUAER0] 2GRN (ZLME XS AL 20,832 20,296 536
= 10,416
< 3,125
s 7,291
101 14 Hl 20,605 20,296 309
= 10,302
< 3,091
= 7,212
04 JIZHHZ22XREES 20,605 20,296 309
O=2ZHMEXNTAH(1Y) 20,605
—Jl=s 68,7203« 1H+212 108 14,432
= 7,216
< 2,165
i 5,051
-5 68,7203 18 x39.98=F 2,748
= 1,375
< 411
[ia 962
—4AHEE = 17,867,200 x12.525% 2,238
= 1,117
< 336
s 785
— X+ 68,7203 18 +9.998 687
= 344
< 103
[ia 240
— W=l 250,000 x 18 +13] 250
= 125




2N
X ZH -
L= B

el

&gt
NEPEREL -
NEVITES-—E

0x

SA BB O () - NRAY - HES 0l &+ o4 il
= 38
= 87
—Xgs Y otdsE S 250,000& * 13 250
= 125
< 38
= 87
201 L2l 227
= 114
== 34
[ia 79
01 At &t 2| bl 227
Os&z Fdl=3 +¢ 227,000& x1& 227
= 114
= 34
= 79
MNENSSIHUM(ER) 41,600
= 20,800
< 6,240
= 14,560
101 1A dl 41,600
= 20,800
= 6,240
= 14,560
04 JI12HHI 2 2 Xt 41,600
OdEDIE2 LI X (2Y) 41,600
—Jl=s 68,720 x2F x212 «9, 99953 28,861
= 14,431
< 4,329
= 10,101
- =5 68,7203 x2H x40 5,498
= 2,749
= 825
i 1,924
— x4 68,7203 x2ZF x9.99& 1,374
= 687
< 206
= 481
— W=l 450,000 x2H 13| 900
= 450
< 135
i 315
—&g=s 2 3t 250,000 x2H x 13| 500
= 250
< 75
= 175
—4EE = 35,733,000& *12.5% 4,467
= 2,233
= 670
[ 1,564




2N
X ZH -
L= B

el

A}
MEXY ZH Y 4
NEMHIAST

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
MENUIAER0] 2G X2 (=&t 51,000 50,000 1,000
= 25,500
< 7,650
s 17,850
201 £B-2dH| 51,000 50,000 1,000
= 25,500
< 7,650
s 17,850
01 At 22l 51,000 50,000 1,000
=ol&It 2% (2Y) 51,000,000 10 &~ 51,000
= 25,500
= 7,650
[ia 17,850
MEANHA S0 2SN (4= ACUOIEH) 20,832 20,294 538
- 10,416
< 3,125
i 7,291
101 @124 dl 20,332 19,794 538
= 10,166
< 3,050
e 7,116
M4 JI12ZtHZE2EXRESES 20,332 19,794 538
OZa= ICIUIOIEH (1Y) 20,332
-Jles 68,7203 x1H*x21L 108 14,432
= 7,216
< 2,165
i 5,051
—F5d 68,7203 1% x39.98= 2,748
= 1,374
< 412
[ia 962
—Qx=g 68,7203 1% +9.99& 687
= 344
< 103
[ia 240
—4AHEE = 17,867,000 x12.495% 2,233
= 1,116
< 335
s 782
— W=l 232,000 x1H 232
= 116
= 35
e 81
201 YEr2 Y| 500 500 0
= 250
= 75
e 175
01 At 22l 500 500 0




2N
X ZH -
L= B

el

ARl
MRTIE ZH U 8
MRIAEIASE
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SN P SA(EN) - MBAY - BES

=

i
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Odgd= ACIUOE =37

100,000& *5&

MW

500
250

75
175

SEMEAZR0 29 X2 (=

ZME XA (=HI)

EURLY

16,480

4,944
11,536

16,000

480

101 @124l

M H

16,331

4,899
11,432

16,000

331

04 J12-HI2 2 Xt
O=ZdEX

—Jl2s

1
Jon
1
o

I
(K%
_>:|_|
I
o

I
£

=4l

|
~
o
H
09
fu

|
J
1K)
J

o

L

= A
- T

AH(1E)

e
r
ton

68,7202 x 12 212 «8&

68,7203 x1H *31.99F

68,7203 x1H «8&

14,294,000 *12.5%

125,000 1 *12

125,000 «1&

EUNLY EUNE Mo EUNL M H

EUNL

16,331
16,331

11,545
3,463
8,082
2,199

659
1,540
550
165
385
1,787
536
1,251
125
38

87
125
38

87

16,000

331

N
2
e
%
M0
02
o

M

149

45
104

149

01 At 22l bl

Ostt2 FHlE

O
4
e

149,000& 15

M

149

149

45
104

149

Pa
o
3o
0%
>
10
=
1o
o

218,000

64,000

154,000

218,000

64,000

154,000

(
8,000,000 =14

218,000

218,000

218,000

HH A

419,567
200,584

58,345
160,638

501,219

A 81,652




A
Hm: pENE T Y 84
Sl =M RIAY (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
SO INRIN(AXSHMA2) (FIRIIXE ZAE) 70,080 68,190 1,890
= 35,715
< 10,310
= 24,055
101 @14 dl 70,080 68,190 1,890
= 35,715
< 10,310
i 24,055
04 JIZHHZ2XREES 70,080 68,190 1,890
O=ItRII X = ALEH(3Y) 68,280
—-Jl=s 68,7203 «3E 21118 47,623
= 23,812
< 7,144
[ia 16,667
-5 68,7203 *3H x43.999= 9,071
= 4,535
< 1,361
[ia 3,175
— X< 68,7203 A +3H 112 2,268
= 1,134
< 340
s 794
— 428 = 58,962,000& *12.499% 7,370
= 3,685
< 1,105
s 2,580
— I =l 598,000& » 14! 598
= 299
S 90
s 209
— W =H| 450,000 x3Y 13| 1,350
= 1,350
ORI NI EZAH SE2LY
180,000 *5& *23| 1,800
= 900
< 270
[ia 630
SSAMEINRIN(AXSHI2) (A E0ILQIN AT S 192,787 187,698 5,089
)
= 97,519
< 28,580
s 66,688
101 14 dl 165,387 160,870 4,517
= 83,819
< 24,470
[ia 57,098
04 JIZHHZ22XRHEE S 165,387 160,870 4,517
OB QO A =& & (9Y) 165,387




A
Hm: pENE T Y 84
Sl =M RIAY (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
—Jles 68,7203 x9F 212 x9H 116,893
= 58,447
< 17,534
s 40,912
—F54 68,7203 & x9H 33,999 21,028
= 10,514
< 3,154
s 7,360
— XY 68,7203 x9H x8.999H 5,566
= 2,783
= 835
[ia 1,948
—4HEE = 143,487 ,000& x12.5% 17,936
= 8,968
< 2,690
i 6,278
— o=l 1,714,000 14 1,714
= 857
= 257
[ia 600
— W=l 250,000& x9H 2,250
= 2,250
201 LBr2g| 27,400 26,828 572
= 13,700
< 4,110
s 9,590
01 At 22l 11,200 16,028 N4,828
O4EHOIQIfA=EH E57Y
200,000& x28F *23| 11,200
= 5,600
< 1,680
e 3,920
02 3322l 16,200 10,800 5,400
OXtg & AAIAHEH KX b
360,000& *x9CH *53] 16,200
= 8,100
< 2,430
e 5,670
=N FRIIHEE 29 132,200 139,531 AT,331
= 67,350
< 19,455
s 45,395
101 14 dl 115,700 113,531 2,169
= 59,100
< 16,980
s 39,620
04 JIZHHZ2XREES 115,700 113,531 2,169
O=IIRIIHEE(5Y) 115,700




A
Hm: pENE T Y 84
Sl =M RIAY (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
—Jles 76,720 «5H x21L « 102 80,556
= 40,278
< 12,083
s 28,195
—F54 76,720 x5 x40+ 15,344
= 7,672
< 2,302
s 5,370
— XY 76,7203 x5 x10 3,836
= 1,918
< 575
[ia 1,343
—4HEE = 99,736,000& *12.5% 12,467
= 6,234
< 1,870
2 4,363
- Tel= o orE g 997,00021 *14! 997
- 498
< 150
[ia 349
— W=l 500,000& x5H 13| 2,500
= 2,500
201 Yete | 16,500 22,400 A5,900
= 8,250
< 2,475
s 5,775
01 At 22l 16,500 5,600 10,900
O=JIRIIHEE & Xz
750,000 x1CH*12& 9,000
= 4,500
< 1,350
e 3,150
O=)RIIMEE 2288 7Y
250,000& x10& *33| 7,500
= 3,750
< 1,125
s 2,625
MEIHEE 294 24,500 0 24,500
201 £B-2%H| 19,500 0 19,500
02 ZZ2 19,500 0 19,500
OYIAHEHEZL B3R
50,0003 x1=+128 600
OXtg & LHINAHEH |X 2eldl
350,000& +9CH +63 18,900
202 O4dl 2,400 0 2,400
01 2LHO! I 2,400 0 2,400
OUEIHEES HRFZ
20,0003 «1&H+103lx12& 2,400




AR}
Mexte X4 Y |4
=AY} 2I ALY

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
405 XHoHF SHI 2,600 0 2,600
01 Mt =S FSHI 2,600 0 2,600
OAXEDINXIIIE)RY 600, 000& =2CH 1,200
OHAZL(EHHEAD]) 2L
1,400,000& =14 1,400
283 X4 ¥ S]¥;XH 325,854 299,390 26,464
lz2&d XS & 22 7,650 2,822 4,828
201 et A | 2,880 2,822 58
01 AFR22t2l Yl 2,880 2,822 58
OFA=NYL =X SHUI(5A)
8,000 x5H x6L x12& 2,880
202 (4] 4,770 0 4,770
01 2LHOHI 4,770 0 4,770
OdA=XgR =r(58NH)
15,900& x5 x5 x12& 4,770
ShEh 2 22 22| 112,373 100,984 11,389
101 @121l 112,373 100,984 11,389
04 JI2ZtHZ2E2XNEE S 112,373 100,984 11,389
Osteta 22242 (3420 A, 19km) 112,373
—-JlE23 71,0503 x6Y 21 »8& 71,619
—FF34 71,050& x6Y 353 14,921
—Axxe 77,0503 x6H x8 3,699
— NSl 2,000 x6H x21 A x8 & 2,016
— 2 Al 4,000 *6H x21 «8 & 4,032
— @E FItH| 300,000 x6H *23] 3,600
-4l EE = 99,887,000& *12.5% 12,486
T 28 EHIDI 205,831 195,584 10,247
101 @121l 205,831 195,584 10,247
04 JI2ZtH22XNEE 205,831 195,584 10,247
OE24 EHIJI(11 8 - & 393.7km) 205,831
— &ots 261,400& *36. 9km*2 3] 19,292
—EY0d 261,400 %26 . 7km*23] 13,959
— O™ ™ 261,400& *27km*23| 14,116
—S&H 261,400 %42 .6km*23] 22,272
—&NEH 261,400 x17.3km*23] 9,045
— a2 261,400 %48 . 2km*23] 25,199
-8 261,400& *63.2km*23| 33,041
—0rgds 261,400& *x19.0km*23] 9,934
—23H 261,400& *49.0km*23| 25,618
—&8&H 261,400& *32 . 8km*23] 17,148




2N
X ZH -
L= B

el
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S
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o0x

(]

42 yo

P

4
2AZE
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| | — =0 261,400 *31.0km*23] 16,207
B854 g 81,000 69,000 12,000
[ 7,200
= 73,800
B4l (M) 57,000 45,000 12,000
401 Al2H 2L 2 HY| 57,000 45,000 12,000
01 Al&H 57,000 45,000 12,000
OLH= =g 3,000,0009 *153= 45,000
o542 EXNMNY 12,000, 0002 * 14! 12,000
B542e 24,000 24,000 0
[= 7,200
= 16,800
401 AlEHI 2L 2 HH| 24,000 24,000 0
[= 7,200
= 16,800
01 Al&HI 23,741 23,741 0
854 e 24,000, 0002 *98.92/100 23,741
[ 7,200
=z 16,541
03 Al 2 259 259 0
OBs4 22 24,000,000 *1.076/100 259
g U Hals X4 746,602 688,207 58,395
[ 228,000
= 518,602
CAE Yotz Jl24s MENZ2E: ZAMYOIES 300,000 300,000 0
TH)(&EH)
[ 150,000
= 150,000
401 A2 H 22 HH| 300,000 300,000 0
= 150,000
= 150,000
01 Al&H 292,500 292,500 0
ONZ4ZEH(2.0kn) (M &)
300,000,000 *97.5/100 292,500
[ 150,000
z 142,500
03 Al 2 b 7,500 7,500 0
ONZ4ZEH(2.0km) (M &)
300,000,000 *2.5/100 7,500
CAE, BaE, 2D, 60,000 60,000 0
HEDSE S ZHANY(HAEXH)(HE)
[= 30,000
= 30,000
401 AlEHI 2 2 HH 60,000 60,000 0
[ 30,000




SA A
Hm: pENE T Y 84
@2 Il L gas x4 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 30,000
01 A& HI 59,460 59,460 0
OYas ZE(1MA) (X&)
60,000,000 *99.1/100 59,460
& 30,000
= 29,460
03 A& 2 0HH] 540 540 0
OYass ZE(1MA) (X &
60,000,000& *0.9/100 540
USRS XA (ME) 60,000 60,000 0
== 48,000
= 12,000
401 Al HI YL 2 0HHI 60,000 60,000 0
= 48,000
= 12,000
01 Al &I 59,460 59,460 0
ousesd =4 (Mseh) 60,000,0002+99.1/100 59,460
o= 48,000
= 11,460
03 A& 20 b 540 540 0
ou=zaed =M (Mst) 60,000,000 *0.90/100 540
ot 22| 271,495 216,711 54,784
101 2124 d| 234,645 177,311 57,334
04 J|12ZtH 22 XHEE 234,645 177,311 57,334
OJ2&d HUl (116 =&, 317km) 234,645
—-JI=23 71,0503 *x10H*x21L + 102 149,205
— WEH| 2,000 *10Y¥ 21«10 4,200
= 4,000 *10¥*x212 +10& 8,400
—FF534 71,0503 *10YH x42= 29,841
— BtE G 50,000& *x2H «10& 1,000
— AX =G 77,0503 «10¥ *x10L 7,705
— &S| 300,000 x10H «23] 6,000
—4f B8 & 206,351,000 & x12.5% 25,794
—&gs & otNG 250,000& x10H 2,500
201 2yt 2 Y| 9,000 8,000 1,000
01 At 22l ] 5,000 0 5,000
OJIz24 L2 2 (H=012Y, s=Hel
EY 5) 250,000 x10& «23] 5,000
02 332494l 4,000 8,000 A4,000
OJditgs Zelxd & &Hl A 220l
200,000& *4CH x53] 4,000
206 TH 2 HI 25,000 28,000 A3,000
01 24l 25,000 28,000 A3,000




SH: 4D
HE: MEX

SXd T8 ¥ B4
Sel Jt24 U YYE X4 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Olt2 gals2dH <X 2L
15,000& x200H *23] 6,000
Odtgs 22l 0¥ HE 2¢
30,000& * 100 3,000
O)24 BNpL 20 2
3,000& =3, 0004 9,000
Oz skt 2 70,000& =12 1004 7,000
405 XH&HF S HI 2,850 3,400 A 550
01 AL 2B F SHI 2,850 3,400 A 550
Oul=x=J ¢ 550,000& =304 1,650
Odzxlg ¢ 600, 000& *2CH 1,200
ANEHEZ 22| 36,071 33,663 2,408
101 @124l 36,071 33,663 2,408
04 JI2ZtH 22 XNEE =+ 36,071 33,663 2,408
OXNEHEZ 22l (12.8km) 36,071
—-J|I=23 71,0503 *29 20! 8 22,736
—F5Y 71,050& x2% %353 4,974
— A X=G 77,050& x2YH 8 1,233
— W&l 2,000 x2H x20 x8 & 640
=ra s 4,000& x29 20 8 1,280
— H@E St 300,000& *2H 23] 1,200
— 4l EE = 32,063,000& *12.5% 4,008
uees Zx e 19,036 17,833 1,203
101 @121l 18,036 16,833 1,203
04 J|ZtH2ZXNEE S 18,036 16,833 1,203
Ooue28 LX 22l (4.5na) 18,036
—-JI=23 71,0503 =19 »202 8 & 11,368
—F5Y 71,050& x 1Y x353 2,487
PN 77,050& x 1 8 617
— S| 2,000 x1H x20 x8 & 320
=] 4,000& 1 »20 8 640
— g9 &=t 300,000& *1H 23] 600
—4EE = 16,032,000 *12.5% 2,004
201 et A | 1,000 1,000 0
01 AFR2 2t 2l Yl 1,000 1,000 0
ousesd Zi2e SR (W=oI2Y, 50l
94 5) 100,000& 58 %23| 1,000
NERS U MEHEY 22X 10,000 0 10,000
T 5,000
= 5,000
I IIAE 23 AHAE B2 10,000 0 10,000
T 5,000




A
Hu: pEnE T4 Y 84
Cel MERS U MEEE 2 EERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 5,000
401 Al& I 28I 10,000 0 10,000
< 5,000
s 5,000
01 A& HI 10,000 0 10,000
Ot 23Rt 2 At
5,000,000 *20H 2~ 10,000
< 5,000
e 5,000
da=X Tdzel 1,725,679 924,450 801,229
= 15,000
< 200,000
s 1,510,679
SAN= & 02 =4 704,557 676,941 27,616
= 15,000
< 200,000
s 489,557
SAN=, S&s, 2, 300,000 300,000 0
HNENSE S THMY(ZAE =4)(&8H
< 150,000
[ia 150,000
401 Al BIZ 2018 300,000 300,000 0
= 150,000
[ 150,000
01 A& HI 292,500 292,500 0
O& A= X£4(0.5ha) (X&)
300,000,000 *97.5/100 292,500
< 150,000
[ia 142,500
03 Al =2 THHI 7,500 7,500 0
OZ Al =4(0.5ha) (& &)
300,000,000&*2.5/100 7,500
SN, &=, 2, 100,000 100,000 0
HEltss S Z4AME
(HESltez=@)(88)
< 50,000
[ia 50,000
401 Al BIZ 2018 100,000 100,000 0
< 50,000
[ia 50,000
01 A& HI 99,100 99,100 0
OXEtsE S (1HA)(HE)
100,000, 000& *99.10/100 99,100
< 50,000
s 49,100
03 Al =2 THHI 900 900 0




K- EH3 B (3H) - HSAY - Ba2 il HZS2
OXsltess S (1MA)(H &
100,000, 000& *x0.90/100 900
TAE & S22 269,307 268,691 616
101 @121l 234,457 218,791 15,666
04 JI2ZtHZ2E2XNEE S 234,457 218,791 15,666
OZAlE ZH2I(47HA , 2 RA36IHA) 234,457
—-JI=23 71,0503 *13H x20 x8& 147,784
- 54 71,0503 *13H x35% 32,328
— X E 77,0503 *13H »8 8,014
— Sl 2,000& x139 20! 8 & 4,160
— 2 Al 4,000 *13¥ «20L! x8& 8,320
— @E FItHI 300,000& 139 *23| 7,800
-4l 28 = 208,406,000 *x12.5% 26,051
201 LEt2 Y| 14,000 16,500 A 2,500
01 AFR2t2l bl 14,000 16,500 N 2,500
OEN% 2 2R 25|17 244
300,000& *30& 9,000
OZAN= ¥ B3 22228 ¢
50,000& *10& *103] 5,000
206 M= Hl 18,000 30,000 A 12,000
01 X2 bl 18,000 30,000 A 12,000
ORJI&8dlgs #+¢ 9,000& *1,000% 9,000
OgisgH «H 2 15,000& x200H x23] 6,000
Olng=sds 2¢ 30,000& *100% 3,000
405 XtabF SHI 2,850 3,400 A 550
01 AL 2B F SHI 2,850 3,400 A 550
Oou=J1+¢ 550,000& *30H 1,650
OUXEF 600, 000& =2CH 1,200
s =Lz 22 5,250 8,250 A 3,000
201 et A | 3,000 4,500 A 1,500
01 AFR 2t 2l bl 2,000 2,500 A 500
OCEsdgasdElss HA2EERY (M =12,
sSEENY 8) 200,000& *10& 2,000
02 3329l 1,000 2,000 A 1,000
OJIAHEE X gl (=21, &I, A
s 5) 100, 000& *5CH 23] 1,000
206 M= 8l 2,250 3,750 A 1,500
01 X2 bl 2,250 3,750 A 1,500
OS¢ H ¢<H 2 15,000& *30H *33 1,350
OsJI&bz #¢ 9,000& * 100 900
AOLEJIEZE =4 30,000 0 30,000




ahg ot
da=X xd2e
A= ¥ 0tSss =4

SA - BB B () - MM - BES Ol &t o il 2
= 75.000
s 15,000
401 Al HIZ 201 I 30,000 0 30,000
= 15,000
s 15,000
01 A& HI 30,000 0 30,000
OAOtEIJtEE 24 30,000,000% 104 2 30,000
2 15,000
s 15,000
AR ELR 195,042 186,524 8,518
AOEEENR2 2l 195,042 186,524 8,518
101 @124 dl 138,122 132,604 5,518
4 D122 2REES 138,122 132,604 5,518
OdAxE2 M=ZY 82,188
—Jlas 71,0503 «6H x21 L «6& 53,714
— WSl 2,000 «6H 21«6 1,512
— =4 4,000 6«21 6 & 3,024
- =54 71,050 x6H »24== 10,232
— =g 77,0503 x6H 62 2,774
— ZE SO 300,000 x6H 13 1,800
—4HEE= 73,056,000& x12.5% 9,132
Ottt xElR 2eld 55,934
—Jlzs 71,0503 «2H 212 +128 35,810
— WSl 2,0003 x2H 21U 128 1,008
— = Al 4,000 2H 212« 128 2,016
— =5 71,0503 x2H «x52=F 7,390
— XY 77,0503 x2H 12 1,850
— ZE S| 300,000& x2H *23| 1,200
—4E2E= 49,274,000 *12.5% 6,160
—&gs 2 otdsE 250,000& »2H 500
201 £B-2d| 19,220 9,420 9,800
01 At 22l 4,500 4,500 0
O4tetxE2 22l 837¢
150,000& = 10& »23| 3,000
Ot xE2 82 2 M= 5,000 *3004 1,500
02 2524l 14,720 4,920 9,800
OZ&2XZTAE KA 5,000,000& »14! 5,000
Oz3&xd dMIIes 400,000& x12& 4,800
OJIAHZHl |Xl2cltl 200,000& «5CH 33 3,000
OMAXER2 MRS 160,000& = 12& 1,920
206 T 2 bl 16,500 16,500 0
01 =8l 16,500 16,500 0




SRR}
B Fp=q zaBe
el MOIEEIR (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
O®JI&dtdlg ¢ 9,000& *500 % 4,500
Ogoi=&H M 2 20,0002 * 1004 2,000
oRz=s ¥ 31 ¥ 200,000& x10& *53] 10,000
401 Al HIZ 2018 20,000 20,000 0
01 A& HI 20,000 20,000 0
OdAxE2 AME=E SX2el
20,000,000& » 14 20,000
405 RHoHE S HI 1,200 8,000 A 6,800
01 AL EFSFHSHI 1,200 8,000 A 6,800
OFYIN(HEI) 7 600,000& »2H 1,200
st =2l 826,080 60,985 765,095
Mg 29 826,080 60,985 765,095
101 14l 22,980 21,845 1,135
4 D12t ZE2EXREES 22,980 21,845 1,135
O=Me2ele(1y) 22,980
—Jlas 71,0503« 1H*212 108 14,921
—F5d 71,0503 x1H %42 2,985
—Qx=g 77,0503 x 18«10 771
— WSl 2,0003 x 1212 %108 420
— =AM 4,000 *1H 212108 840
— ZE SO 300,000 x1H *13] 300
— 42 = 19,937,000& *12.5% 2,493
— s ¥ oHME 250,000 1A« 1 H 250
201 2yt 2 Y| 3,500 2,900 600
01 At 22l 1,200 0 1,200
Ot 2 2| l=x=J1Y & 37F% 7
200,000 x6 & 1,200
02 2324l 2,300 2,900 A 600
O=%g AIE3II HEE 500,000 » 14! 500
Oz ME=EH MIIRS 100,000& »12& 1,200
Osdgu=Jl & JIHs &% ¢
50,000& +2CH *6 2 600
401 Al HIZ 201 8] 796,000 30,000 766,000
01 A& HI 796,000 30,000 766,000
Otte =& (40 2) sA&el 20,000,000 =14 20,000
OFRAHEYMz MHEF FH EXO=
776,000,000& x 14! 776,000
405 Xt&tFE SHI 3,600 0 3,600
01 XML = ZFH SH| 3,600 0 3,600
ottg=2xd 22 JIHs +¢ 600,000& = 1CH 600




SA A
A
A

el

2 ot
S ESE T
aszae

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oated S & Zglel Ho AL (AHoIH)7e
3,000,000 = 1CH 3,000
AT SXHA 2= 2,222,428 2,088,527 133,901
= 458,578
< 293,575
s 1,470,275
HIZ elst THoH ol 2 7,650 2,880 4,770
XH ol Ol 2 Kl & 7,650 2,880 4,770
201 Let24dy] 2,880 2,880 0
01 At 22/l 2,880 2,880 0
OUEZYYR =X SH(BH)
8,000& x5H x6 x128 2,880
202 014l 4,770 0 4,770
01 2LH 0l bl 4,770 0 4,770
OUEZ YYD =T (BH)
15,900& x5H x5« 12& 4,770
MESTIoH = A3 1,812,264 1,618,848 193,416
= 330,279
< 240,698
[ia 1,241,287
At 0 e 94,169 88,773 5,396
101 144 dl 21,179 20,703 476
01 2= 16,717 16,372 345
O &=sds € 0l S 243 Mollsla=22 =
=4 16,261
— 6= 11,6343 x4 H x23A| 2t+53 5,352
—7= 10,5093 «3H 23 Al 2t+53 3,626
— 8= 9,4343 x4 H «23A| 2tx5E 4,340
—9= 8,528 x3H *x23Al 2t x5 2,943
OM™SIH&HI 16,261,000 *2.8/100 456
02 JIEtE B 4,462 4,331 131
O &=ds 4 oled S Sl HIa22 =
EHANFES) 9,4343 x4 H «23A| 2t+5E 4,340
OXMSMLH (HAMBESH)
,340,000& *2.8/100 122
201 Let24d] 39,320 34,400 4,920
01 At 22l 24,720 19,800 4,920
Odt2 24D M 6,000& =1,0000H 6,000
Otz e & 2223 MH
5,000& *4Z 1004 2,000
O&tE2 x4 SHIE HZE 50,000 «2001 x23] 2,000
O8H &t=0e =&l 14,720
-= 8,000& x6H 402! 1,920




SN M
M M Mol EXMEH 2=
CHol 2Ol HAS O (29 a8)
SA - BB B () - MM - BES Ol &t o San HmEET
- d 8,000 «4H 402 101 & 12,800
02 2324l 14,600 14,600 0
OdMERE =S 60,0003 +7CH 420
OXsI N3 40,0002 »7CH 280
OXsi BE&8x 600,000& +7CH 4,200
OstHE=RHEI =l & dlts=2
10,000& = 100CH 1,000
Of4d= JIX= =2l & E=
25,000 * 120 & 300
OXt& Al 1,200, 000& »7CH 8,400
301 LBEXS 33,670 33,670 0
12 JIEtE4 3 33,670 33,670 0
O¢=22ZANE FFEIXE  7,000& *37H 1302 33,670
AHITHOH 2 K2l SHOI(MEE 20 LX) 1,499,033 1,212,384 286,649
= 281,643
< 222,124
s 995,266
101 1A dl 1,475,446 1,192,705 282,741
= 272,200
< 217,881
s 985,365
04 JI2ZtHZ22HEE = 1,475,446 1,192,705 282,741
OUMEX 20 LT HH (50F) 680,500
—Jles 68,7203 *50H x 1552 532,580
= 213,036
< 95,866
[ia 223,678
—ReFsrE 68,7203 x50H 25 85,900
= 34,364
< 15,464
e 36,072
—4UE2E= 352,160,000 *12.5% 44,020
= 17,600
< 7,920
s 18,500
—2f=s 2 ¢ 180,000& x50H »23| 18,000
= 7,200
< 3,240
s 7,560
Ott= 2 Al A (60Y 794,946
—Jlz2s 68,7203 60 x1552 639,096
< 76,691
fia 562,405
—fEFssY 68,7203 x60Y 25 103,080
= 12,370
s 90,710




-

2N
X ZH -
L= B

el

SAAM 25
XA CHH (cho &)

P e

B =k
ol

HI oM oM

on
= =

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

—4AEE= 422,160,000 *12.5% 52,770

6,330
46,440

M

201 Yer2 gy 23,587 19,679 3,908
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8,064
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M M Mol EXMEH 2=
el A2 Oioh =ASH of
= _ — d =
SA - BB B () - MM - BES Ol &t o e
206 M= Hl 3,450 3,450 0
< 690
s 2,760
01 =8l 3,450 3,450 0
O4tE A213X B0E 5,000& 6904 3,450
< 690
s 2,760
308 XXIEHH SOl A 93,375 93,375 0
07 IXNSHH2URE = 93,375 93,375 0
O&t=dlstE &It 31,125,000 =3CH 93,375
MEUI nEeEE L A 3,972 3,912 60
308 XtXIEHH SOl A 3,972 3,912 60
07 IXNHMAR2E = 3,972 3,912 60
O&t=ZAl&lsteled s o &HIt
397,200& =103l 3,972
S S a2 AL E 7,800 7,800
= 3,120
< 1,404
s 3,276
201 Let24d]| 7,800 7,800
= 3,120
< 1,404
[ia 3,276
02 2324l 7,800 7,800
OQUEZAE AXZH AI2E(SMR)
130,000& =60CH 7,800
= 3,120
< 1,404
[ia 3,276
MEUYES SUEH 25 ¥ 2F 4,000 4,000
= 1,600
< 720
s 1,680
405 TtHakH S| 4,000 4,000
= 1,600
< 720
[ia 1,680
01 AL EFH S 4,000 4,000
sE 2&I 2 800,000& +5CH 4,000
= 1,600
< 720
s 1,680
g Rel SRS ga] 15,600 15,600
= 6,240
< 2,808
s 6,552
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M M Mol EXMEH 2=
el A2 Oioh =ASH of (&)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
206 M= Hl 15,600 15,600 0
= 6,240
< 2,808
s 6,552
01 =8l 15,600 15,600 0
O4tE el &l st &Y 100,000& 1563 15,600
= 6,240
= 2,808
s 6,552
MEEZAS ReAZAISMHE FANES 8,000 8,000 0
= 3,200
< 1,440
e 3,360
201 Let2d] 8,000 8,000 0
= 3,200
< 1,440
i 3,360
01 At 22l 8,000 8,000 0
ORIz Aldtet KA 2,000,000 =4CH 8,000
= 3,200
< 1,440
s 3,360
Qa=E =28 WA S5 10,000 8,500 1,500
201 Let24dH] 10,000 8,500 1,500
01 At 22l 10,000 8,500 1,500
OutE 28 MHA &L SdE W
50,0003 *3001 x23] 3,000
OgutE =28 MH & &+ 2 Z0E X
= 20,0002 3004 6,000
OgetE 28 MWH o sE=SS
2,500 *4Z 1004 1,000
MEE 2 AN HAH 11,700 11,700 0
= 4,680
< 2,106
[ia 4,914
201 Let24d] 11,700 11,700 0
= 4,680
< 2,106
s 4,914
01 At 2teltl 4,500 4,500 0
Ot=8 el A HMH ESXHE X2
4,500,000& = 1CH 4,500
= 1,800
< 810
s 1,890
02 =24l 7,200 7,200 0
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g MEMH SXHM 7=
el A2 Oioh =ASH of (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OU=E R AHd MH &sXHE |FFHI
7,200,000 = 1CH 7,200
= 2,880
< 1,296
i 3,024
ok &K E st 53,300 0 53,300
= 26,650
< 7,990
s 18,660
101 124 Hl 43,200 0 43,200
= 21,600
< 6,475
s 15,125
04 JIZHHZ2Z2XRHEE S 43,200 0 43,200
O&rXI & st 2el 2 (3Y9) 43,200
—Jlzs 68,7203 x3H x150 30,924
= 15,462
= 4,633
i 10,829
- &5 68,720 *3H*39.995 8,246
= 4,123
< 1,237
s 2,886
—4HE2E= 29,840,000& *12.5% 3,730
= 1,865
< 560
s 1,305
- XY= oFE S 10,0002 *3% 300
= 150
< 45
[ia 105
201 Let2d] 10,100 0 10,100
= 5,050
< 1,515
[ 3,535
01 At 22l 5,900 0 5,900
O&XlZst=s 7+ 150,000& 28 300
= 150
< 45
fia 105
OX& S Xt 5,600,000 = 1CH 5,600
= 2,800
< 840
s 1,960
02 2324l 4,200 0 4,200
ORFHl 4,200,000 = 1CH 4,200
= 2,100
< 630
e 1,470
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38,775
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OO0 & 2 1 & (49) 77,551

-J=a 68,720 x4 x200L 54,976
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1,237
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2N s
Mz MO XA 2=
CHRl: At2l"EHG=E =D gt Hl (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %E& HRE2
405 XHA&HF S HI 2,695 2,618 77
= 1,348
& 404
= 943
01 XAt 2 ZF S| 2,695 2,618 77
OWZEME oz & 2HEY 2
269,500& x10& 2,695
= 1,348
=) 404
= 943
AFEFAFS 184,538 267,374 N 82,836
= 21,461
== 22,534
= 140,543
AEIAIA 22t9 Olalel &EA 1,069 972 97
308 AXIEHSOIA 1,069 972 97
07 MIXSHHM2AREES S 1,069 972 97
OAEFAFS (AFEER] B 5400 A )
220,000 54l 2~ *8.99/100 1,069
AtEHEH ELESd O K& 1,059 1,412 A 353
308 MXISHMSOIA 1,059 1,412 A 353
07 X SHH2AESZ 1,059 1,412 A 353
OAEFAFS (Al EtEESE HDF, 3AH)
3,922,000& x324%8.995/100 1,059
APEEAIS EFESE O K& 750 1,116 A\ 366
308 XAXIGHHM SO0l & 750 1,116 A\ 366
07 AIXISHHZ2EES 2 750 1,116 A\ 366
OAEHALS (AFELALS EFEEA TOF, 2H)
4,164,000 x224%9/100 750
AP O] =M 22 4,410 4,410 0
308 XHXIGH SO0l & 4,410 4,410 0
07 AIXISHHZ2ES S 4,410 4,410 0
OAEH XS 22| (AIERHZ=A 7 A)
7,000,000 *7IH A *9/100 4,410
AR Al A 67,500 90,000 A 22,500
308 XX G SO0l A 67,500 90,000 A 22,500
07 NIXSHHZ2ESSZS 67,500 90,000 A 22,500
OAEEAFS (AFEEEH 3O A)
250,000,000 *3JH*9/100 67,500
HEEHAA 34,876 52,314 N 17,438
308 XAHXIEHSOIA 34,876 52,314 N 17,438
07 NXSHHMZ2REESSZ2 34,876 52,314 N 17,438
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Chel s AP A (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OMEMS(HZEA, 2km)
193,757,000& *2km*8.9997/100 34,876
AP THOH 2 Kbel SOl (AFAREN S 2ol 2 ) 53,652 52,570 1,082
= 21,461
< 22,534
s 9,657
101 1A Hl 45,472 42,741 2,731
= 18,189
< 19,098
s 8,185
04 JIZHHZ2XNHEE S 45,472 42,741 2,731
O&HALEY B & Ol e (4Y) 45,472
—Jl=s 68,7203 x4H x125 34,360
= 13,744
< 14,431
s 6,185
—F=58=H 68,7203 x4 x252 6,872
= 2,749
< 2,886
[ia 1,237
—4AHEE = 27,520,000& *12.5% 3,440
= 1,376
< 1,445
s 619
—ussdl 100,000 »4H x 13| 400
= 160
< 168
s 72
—&gs % otds S 100,000 »4H x 13| 400
= 160
< 168
s 72
201 £B-2%H| 8,180 9,829 21,649
= 3,272
< 3,436
= 1,472
01 At 22l 5,180 6,829 A 1,649
OALALER H 2t XIS Aol XtE Qlaftl
50,000& 10& 500
= 200
< 210
e 90
O==YXM & 280,000& x13] 280
= 112
< 118
[ia 50
OXE Rt 4,000,000& = 1CH 4,000
= 1,600
< 1,680




2N s
Mz MO XA 2=
CHRl 1 AFEEALS (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
720
OMAE HANSXE ARE 4+
100,000& *4H x 13| 400
= 160
& 168
= 72
02 22244l 3,000 3,000 0
Ow&H| 3,000,000 «1CH 3,000
= 1,200
o= 1,260
= 540
APAFER F 24X L ATEAIE 22 20,000 0 20,000
401 Al HI L £ 0HHI 20,000 0 20,000
01 Al& b 20,000 0 20,000
OMEANE B 2 =4 10,000,000 *2JH 2 20,000
AP E 3O EH 1,222 0 1,222
308 AMXIESHMSOIA 1,222 0 1,222
07 MIXSHHM2AREES S 1,222 0 1,222
OAMEAS (At HUEA 5H)
2,716,0009 x524%8.995/100 1,222
A M A5 838,656 1,051,292 A212,636
= 324,384
= 156,503
= 357,769
A2tAE 245 XA 21,834 2,304 19,530
& 2,952
= 18,882
MEASE E43 XS 7,074 2,304 4,770
201 et | 2,304 2,304 0
01 AP 22| d| 2,304 2,304 0
OUZASYR =X ZU(BH)
8,000 x4 x5 x 12 2,304
202 04d| 4,770 0 4,770
01 2L I 4,770 0 4,770
OUBASYD =X (BH)
15,900& x5 x5 x12& 4,770
ool MEAATI B2 14,760 0 14,760
& 2,952
= 11,808
201 LBt Y| 14,760 0 14,760
& 2,952
= 11,808
01 AP 22| d| 14,760 0 14,760
ONE 2ol ME B2 72,000& x205H 14,760
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a9 FMY L
& PAas 243 NH (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 2,952
s 11,808
Yol ASSH € M5FE 2435 776,222 873,948 N97,726
= 324,384
< 135,551
s 316,287
SHEIELY ES(FH8) 14,000 22,400 A 8,400
= 6,000
< 2,400
s 5,600
402 2I2H X201 M 14,000 22,400 A 8,400
= 6,000
< 2,400
s 5,600
02 QI 2 A EZ (OIS ) 14,000 22,400 A 8,400
OSMEXEde] X (50)
20,000,000& *70/100 14,000
= 6,000
= 2,400
s 5,600
SHEIE2LY ES(MI=XE) 8,000 0 8,000
= 4,000
< 1,200
s 2,800
402 2I2H X201 M 8,000 0 8,000
= 4,000
< 1,200
s 2,800
02 QI E2AIS EZ (OIS ) 8,000 0 8,000
OsSMEXEde] X (20)
8,000, 000& *100/100 8,000
= 4,000
< 1,200
s 2,800
Qo= 433 N 143,085 91,800 51,285
= 57,234
< 25,755
s 60,096
402 QI2H X201 A 143,085 91,800 51,285
= 57,234
< 25,755
[ia 60,096
02 QI 2 A EZ(OI X TH ) 143,085 91,800 51,285
OYats AZ3 X2 (25002)
286, 170,000& x50/ 100 143,085
= 57,234
< 25,755
s 60,096
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SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
JaE: RSIIE =4 131,000 0 131,000
= 52,400
< 23,580
s 55,020
402 2I2H X201 M 131,000 0 131,000
= 52,400
< 23,580
s 55,020
02 QIZ2ZE X2 AIL 2 X (01X TH ) 131,000 0 131,000
OgutE RSII18F 24 (2201 L)
262,000,000& %50/ 100 131,000
= 52,400
< 23,580
s 55,020
AAES MADIEH = H 19,000 15,238 3,762
= 7,600
< 3,420
s 7,980
402 2I2H X201 M 19,000 15,238 3,762
= 7,600
= 3,420
s 7,980
02 QI 2 A EZ(OI X TH ) 19,000 15,238 3,762
OYdts MADIBE M (50HA)
38,000,000% *50/100 19,000
= 7,600
S 3,420
i 7,980
AR E MACET] (A H) 339,355 400,000 260,645
= 135,742
< 61,084
s 142,529
402 RI2EXt20| ™ 339,355 400,000 260,645
= 135,742
< 61,084
s 142,529
02 QI 2 AL EZ(OI X TH ) 339,355 400,000 A 60,645
Ol XSMAT XS (AH)(57H2L)
678,710,000& %50/ 100 339,355
= 135,742
< 61,084
s 142,529
MESEFHIAIHI(BR2) 119,200 212,510 293,310
= 59,600
< 17,880
= 41,720
402 RI2EX 20| ™ 119,200 212,510 293,310
= 59,600
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a9 FMY L
SRl U0l ASEH U MAAY B CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 17,880
s 41,720
02 LA TEALEZ(0IETHR) 119,200 212,510 293,310
O =2 (S2-349 L)
149,000, 000& *80/100 119,200
= 59,600
< 17,880
e 41,720
HEFU L= e el 2,582 0 2,582
= 1,808
< 232
s 542
402 RI2EXH=20l A 2,582 0 2,582
= 1,808
= 232
s 542
02 QI EAILEZ (01X S) 2,582 0 2,582
OFSZ AMS THHE 22 (100H2)
2,582,000& *100/100 2,582
= 1,808
< 232
e 542
S0t & YEFAHN =S4 40,600 28,040 12,560
< 18,000
s 22,600
=0t & LY=AHI =4 40,600 28,040 12,560
S 18,000
i 22,600
307 glz2tol & 40,600 7,600 33,000
< 18,000
s 22,600
04 DI2HHALALSE E X 40,600 7,600 33,000
OLI=AHX &=03 &It
304,000& x25H 13| 7,600
OHM18s Aol sotsUtal MHE X
33,000,000& =14l 33,000
< 18,000
e 15,000
HY2HZH (A D) 171,479 155,756 15,723
ol 2| (A 1) 138,938 126,816 12,122
ol (& ) 138,938 126,816 12,122
101 @124l 138,938 126,816 12,122
01 2= 87,208 85,406 1,802
OAlIZte 28+ 84,832
— 6= 11,6343 «4H «50A| 2t 128 27,922
= 10,5093 *3H «50A| 2t 128 18,917




SA: A
Mz HMSAHH (AR D)
Chel: ol 2oyl (MR ) (Sl &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
— 832 9,434 x4 «50A| 2+ x 128 22,642
- 92 8,528& *3H x50 A| 2tx12& 15,351
OMIMA Yl 84,832,000 *2.8/100 2,376
02 JIEt& E % 23,276 22,591 685
OAlZ2t2 22+ (HIAMNEES) 22,642
—HANRES AN
9,434 x4H x50 A| 2t x12& 22,642
OXMRIMEHI (MR ES)
22,642,000& *2.8/100 634
03 I AHLZ2ZZAHE S 28,454 18,819 9,635
OANZtRl 2242 (RI1H ) 18,527
— 453 20,0823 *1H x15Al 2tx 12 3,615
-6z & 20,3693 x1H x15Al 2tx 128 3,667
-7 20,5133 *2H x15Al 2tx12& 7,385
— 1358 21,4393 x1H x15AI 2tx12& 3,860
OFLd22 4+ (RIH) 4,435
—45 = 160,662& * 1Y x1L 161
— s = 162,950 1P x 1! 163
—-753 164,107& x2H 12 3,939
—13& 2 171,514 18 %1 172
OHX = (R A <) 5,492
—45 2 107, 108& *1H x10L 1,072
—63= 108,639 x 15 10! 1,087
—-73 2 109, 4053 2P x 10 2,189
— 1388 14,3423 * 12+ 10 1,144
| =20l (A 2 D) 32,541 28,940 3,601
JlE2dy (A D) 32,541 28,940 3,601
201 LEt2AY| 19,341 19,040 301
01 AFR2t2l bl 18,215 17,460 755
O&FLEILRE 62,900& x12& 755
OARIIIISEHI (Z5H) 220,000 x4 & 12 10,560
RS2 (58Y) 200,000& x12& 2,400
OJIEt2YH|(EY) 4,500,000& =14] 4,500
02 =294l 1,126 1,580 N 454
O X RERZ 2,000& x4003] 800
Of/ggdsxdlz 27,130& = 12& 326
202 04| 5,400 5,100 300
01 =2LHOHI 5,400 5,100 300
Ol S2YL =4 300,000& x1H x12& 3,600
OHTAIE(E5NH) 1,800,000& * 14 1,800
203 &R =&H| 7,800 4,800 3,000




<

3,000

no
Klo
E
B
o o
o
[e6]
<
WH3r
uilEd
RS
o o o o
o o o ()
o o (o] [e]
o o o< <
aor
<
(=
¥ Gl
™ Y
= x
o | 2
30 =] S
1] S o
o (=)
. - <
3 ®
= H
T )
=z 8t
. [
= |z &
=
o g K
= o ¥
mwl &l oF
uJ zl &1
I U
W |w <
RO =< O
. ™
o
X




